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Uncertainty evaluation of the detection result from determination of water-extractable protein

in natural rubber latex

Zhaofeng Li, Danhua Xie

Guangzhou Inspection Testing and Certification Group Co., Ltd. Guangzhou,Guangdong

[ Abstract] This assessment conducts uncertainty analysis on the standard GB/T 21870-2008 for the

determination of water-extracted protein content in bulk latex products, and analyzes the uncertainty composition

and contribution of its method from various aspects. Finally, the expanded uncertainty of a protein content of

805.29 pg/g was calculated to be 197.94 pg/g (k=2).
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